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1. (QUES:1-2) fAqzr: feu e wreri=r &Y sagd® ufew
TUT U T Y BT IR P (¢ T IuGad fadweq &1
T P .

TR BT J&f 37 TS g&ii S THH 9gd ST 3N AT
BT 81 TIRGE BT 971 YR & IR AP AeT 3R
Wg@nﬁm%@sﬂwaﬁuﬁaaﬂﬁm@ﬁuﬁ
HEkd Wwaﬁaﬁ'{m‘%m%lwmaim
Wq&rumw$$ﬂ

¥ & BT a1 9 aﬁvﬂﬁqaﬁ‘ﬂ%amam

¥ P wre e 33 €1 39d @ o wgd aiftie
AT giaT 8 | 9% g9T & S H A1iad &1 ge
Wﬁ@ﬂ%mm%%m ¥

AT &1 g frad Tu ghar 82

a) GdaR b) drs

¢ FFAR d) TR

2. TIvgd & 99 FI fadwar T8 @:

a) Herg b) HoR gHI

) TOEd g d) foerEm

3. 39 § YIgara® T8

a) 94 b) =W

c) AR d) J&b

4. '3 AWM P U §1' 39 a199 H R e BT T
P USR fafEagi

a) Fsrars gdam b) s gdam

¢) VIS FIAH d) TeuarEe JaqH

5. Pod Uad b1 Treal & WY e 82

a) M b) I

) fagior d) febar

6. "Ufagpa H HH-I1 GHY 82

a) fg9u™ b) “g JH™Y

c) HHYRY A d) ST T

7. T fiped) & Tpaa-agaa &1 B9 91 g 9dl 22

a) TASHI - ASHI b) BRI - BRI

c) IUY - Jul d) U<l- U

8. gl are #1 Ifd of FU A A, AR & 9R ge W,
Te1 fd fRrg &1 T faar e 22

a) TP b) SfedfdR™

o) ST R d) qof form

9. feu e fameul A | ‘3far 2reg &1 ety wam g2

a) Y b) 3P

c) offd d)y 9udp
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10.
a)
c)

qataar T | TP - I B
T - gt b) O - TIfor
T8 - 9 d)y TR - FPt
IRV P &P T o I BT R &:
ag b) Sy

aid d) R¥®T
frufafed # #1991 faeeu 981 82

3fyer 3wz formr - quf b) WSSt U Ol § -
TSHT o QT & — Ul d) foamh sm@ - dure
YdPbTd yiosdea

TSP US A R a190 & 99 91 $R® 87

G HRD b) &H HRSB
UG HREH d) TR0 BRD
Tt & IR Y5 Vg BT 999 Piforg|
gt b) et
GELi d) R

Frafafaa gerak @1 o gargt| TF e
A IR-AWD Afdd  b) T TG G
AT BT d) ST gl

frd=: 3 fawe &1 9g+1 39 o fAY U w=gf & agg
P fore e -vres faey & U & IUUNT fobar S gopar
g1 91 aafa, e oM @1 faq ik 99y ugd 9
i3 =18 giam

ST b) UM
Sfafy d) SRERIS
"JERIE’ Weg BT T oG T Bl &2
3fefie b) 3rgle
IR d) SERIC
RT3 T &1 IR via 82
RUEES| b) T I
IR d) I

%&mﬁmq—c&'ﬁmﬁﬁﬁl"sﬂﬁﬁﬁﬂ-mm
. o) R
CREIRIED d) <l

e fufafad # 19 a1 seeR 82 WA &t wfd
gﬁ,wmﬂﬁmlaﬁmaﬁ,ﬁaﬁ
|

I b) ®UG
qqH d) Y

. (QUES : 21 - 22)) Direction: Read the passage given

below and answer the questions/ complete the
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a)
c)

22.
a)
c)

23.

a)
c)

24.

a)

statements that follow with the help of given
options.

Our giant water tower was home to some big and
menacing honey free colonies. We made all efforts to
get rid of them for the safety of the human residents
of the colony. Honey collectors were invited but were
only able to destroy a few hives.

Actually they never wished to get rid of all the honey
trees honey was their livelihood. Whenever we saw
the honey collectors in their loin- dhoti, jute ropes,
leaf baskets and flaming torches, the children would
run home for fear of the bees and hail the honey
collectors for their bravery from our balconies. For
me as a kid bees did not belong to the urban
environment.

Decades later, a thousand kilometres from the water
tank, | accompanied honey collectors deep into the
forest to study their harvesting technique. They
carnied battery lights, ropes and bee suits. Climbing
up the trees, protected by the bee suit, the collectors
set to the task - they extracted the honey chamber
leaving the hive intact. A few days before the
extraction, they had inspected the hives to select
those that looked full or healthy - ensuring that
honey extraction does not damage the hives. This
sustainable harvest ensured that the bees were not
destroyed and the collectors retained their
livelihood. For the biologist the bees belonged to the
wilderness.

In between the water tower and the forest lie our
gardens and fruit orchards. Here both humans and
bees meet more intimately. Here our relationship
with bees is give and take. They pollinate our flowers
and help our fruit trees to get laden with fruit.

The writer of this article is a:

Biologist b) Photographer

Honey collector d) Bee keeper

The topic discussed herein is:
Fear of bees b) Honey extraction

Bee keeping d) Safety from bees

Choose the most appropriate answer and fill in the
blanks. The verb form of 'Hard' is

b) Harder
d) Hard

Harden
Hardest

Direction: Change the following sentence given
below in the appropriate narration form.

He said to me, | have often told you not to play with
fire.

He said that he has often b) He told me that he had
been telling me not to often told me not to play
play with fire. with fire.

He reminded me that he d) He said to me that he
often said to me not to often told me not to play
play with fire. with fire.

25.

a)

c)

26.

a)

c)

27.

a)

<)

28.

a)
c)

29.

a)

c)

30.

a)

c)

31.
a)

c)

32.
a)

c)

33.
a)

c)

Direction: Choose the most suitable answer to fill the
blank: If we go out with friends, we normally
to a restaurant.

go b) will go

can go d) gone

Direction: Fill in the blank with the correct word. We

were starving so we really dug ____ when the food
finally did arrive.

In b) Into

Up d) Deep

All monks and _____ of this church are invited to the
program.

Monkes b) Monkies

Monkixes d) Nuns

Direction: Fill in the blank to make the sentence in
simple past tense. | expected to fail the exam, but |
after all.

passes b) passed

pass d) will be passing

Choose the option that is the indirect form of the
sentence. Vandana said, “I'm being dropped to office
today"'.

Vandana said that she b) Vandana said that | am
should be dropped to being dropped to office
office today. on that day.

Vandana said that she d) Vandana said she was
was being dropped to dropped to office today.
office that day.

Choose the option that is the passive form of the

sentence.

Shyam saw Abhishek starting the car.

Abhishek  has  seen b) Abhishek can be seen

Shyam starting the car. starting the car by
Shyam.

Abhishek  was seen d) Abhishek was saw by

starting the car by Shyam starting the car.

Shyam.

TGS T &

EIGIERIEUIE b) Xfidaeaq
SRCANE d) BRe
TN ST AN Telol:

TG b) SfTtHIG:
FHYRY: d) SgdifeadN:

T by o=

TR d) T

;S
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34. BT e faemed e fa |

a) AAIH b) TR

¢) fuar d) dHIq

35. TRA FUHTK:

a) agif-tHaaT b) UIH-ThaTT
c) W§I-ThaTI™ d) Jar-ThdaT™
36. 'UE YAl G APRT SUHYSIHaT ¥ Yafa:
a) W b) Fed

c) T d) Weul

37. "W+ UOId" 307 A wfasfa-

a) e b) Oord

) T d) ueid

38. ‘HfYay A U 37

a) dddq b) XM

c) o d) =g

39. ( QUES : 39 - 40 ) fdzm: w. vd=aw - TerRey Sy
FARTIOT AT |
HARTURY T: Y MY BU- 3 T AN
W ar w9 uftem WeiuRd 9w
PRAUUSTE: o quiaa Reafa) udd dR
dRmyr 3 wYR=Uur afdfar wEe: fiewrg
ﬂwﬁlﬁaﬁjﬂ an'mﬁqaaﬁmmﬁlg?}m
dlg: YGI-Hel THY SUMEIH Wafd| 3R Sim:
o ofem R ufifye: | 3 od: wwe: ofy
Wsrh aaaﬁm 3T | HETHRGX Faifired U urs oo

|

eﬂmgﬁrﬁﬁmmﬁﬁmaﬁﬁ»—qv
a) b) HAd™
c) I d) <a™
40. TYPUTT: F: YOTG: 3F UYI:?
a) SURHHH b) THH
c) I d) Sy

41. FE ¥ A F9-H S g8- AU &2
Which one of the following pairs are co-primes?
a) 59,97 b) 348,296
c) 3025, 4920 d) 114,213

42. 12,15, 18 3¥ 20 ATl B goHfeal & ok ta S avf
¥ =ud 1t duR fpe o1 g ard S B gAaH
T T R?

What is the least number of soldiers that can be
drawn up in troops of 12, 15,18 and 20 soldiers and
also in form of a solid square?

a) 900 b) 400

c) 1600 d) 2500

43. 46 ¥UU H I 94 R GHGR DI 8% DI g grat
B 6% WY UTW H1 & forg, 9vg &1 fapa gea @

g1 IR

a)
c)

44.

a)
c)

45.

a)

c)

46.

a)

<)

47.

a)

c)

48.

a)

c)

Shopkeeper selling on article for Rs. 46 % loses 8
% In order to gain of 6 % what should be the selling
price of the article?

65 ¥UY Rs. 65 b) 56 ¥TY Rs. 56
53 T Rs. 53 d) 85T Rs. 85
150000 TYY BT TH FAC 5% TH U A §RT B HI 9T

AT 81 B, TR 1 2% B WA Hl aqF sTaT 3| A R
A T

A flat worth Rs. 150000 is sold by A to B at 5 % profit.
B sells the house back to A at a 2% loss. Then in the
entire transaction:

ABI 1350 T BT b) A DI 1350 SUY BT ATH
ABI350FTHTATH  d) A DI 10650 TTI BT ATH
13 BTl &1 A1A 24 g1 IR Ud® T= # 3 wisT

7T @, S 9T HIe 91 g
The mean of 13 numbers is 24. If 3 is added to each
number, then what will the new mean?

24 b) 21
27 d) 25
Ife T FifIPIY s BT HIeH MR ATFRADT HH:

5 3 6 8, A gD BT HH &:

If the mean and median of a statistical data be 5 and
6 respectively, then the value of mode is:

11 b) 9

8 d) SR H AP T

afe Tw g &1 Ty 306 aY 3 & Y F
ISR ¢ @ SHB Ichgel T 82

If the latus rectum of an ellipse is equal to half of its
minor axis, then its eccentricity is:

1 L
2 , V2
v V3
2 " 4
I 3GT BT GHIHUT JTd HHTT & X - S 34 &

YATHP M 1Y 30 ° HT TS HIUISAETE 3R y -
3 & BUMTHS fERT & ATY 4 SHTS BT TP 3HA-TS
fa=fea s g2

Find the equation of the line which makes an angle
of 30 ° with the positive direction of the X - axis
and cuts off an intercept of 4 units with the negative
direction of the y - axis?

} \/iy { 4\/§ =0 b) z+vV3y—4v/3=0

T —V3y+4v3=0 d) - vﬁy 4/3 -0
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49.
. 1.1
c:B=1.1 445
5 OB g g el
A . B = % % C : B - ll %7
If and find the
A2+ B2
[
value of
1
8 14 =
125 b) 7
a)
7 7
125 124
c) d)

50. A 3R B I UISU U ¢ Pl HHT: 16 U ¥ 48 e &
WR TP 21 i QT urswl B U WY Wi f3aT &g,
@ P B WA A fHaan gwg aim?

A and B two pipes can fill a tank in 16 hours and 48

hours, respectively. If both pipes are opened
simultaneously, how much time will it take to fill the
tank?

a) 10 €< 10 hours b) 12€< 12 hours

¢) 15%9e 15 hours d) 16 €< 16 hours

51. U@ ga @ Bt 28 A 31 st ufkfyr 8k wa wma
Biforg|

A circle has a radius of 28cm. Find its circumference
and area.

a) 170 I 3R 2460 b)
I 170cm and 2460cm?

c) 196 It 3R 1464 d)
Jf2 196cm and 1464cm?

52. Xip BT 40 At 3R W B fodes Farg 29 Jnht
8| P 1 3 ©:
Diameter of cone is 40 cm and slant height cone is 29
cm. Volume of cone is:
a) 3200m ¥HE 3200m cm?®  b)  1200m YHE 1200m cm?
c) 1400m THE 1400 cm®  d) 2800m THE 2800m cm?

53. TS goaare A U+ 2091 U # 110 BT TR §AT41
3R IHA Ut 3 F 4 P gga I 208 U F
YT IS 3a A gift?

A batsman in his 20t innings makes a score of 110
and thereby increases his average by 4. What is his
average after 20" innings?

a) 30 b) 34
c) 36 d) 43

178 It 3R 2434
T2 178cm and 2434cm?

176 Tt 3R 2464
THR2 176cm and 2464cm?

54. UYATES foFg( x ) & RITH UR T 3T
What will come in the place of question mark ( x).

a)
c)

55.

a)

c)

56.

a)

c)

57.

a)

c)

58.

c)

59.

a)

60.

2.2 0z 11,2 .1
13.7><7—14><3.6
0.006 b) 1/6
0.6 d 6

fE A BT 20%, B F 20% H SIST ST€T €, df IWR B BT
40% &1 B, A &1 fra=1 ufa=ra 82

If 20% of A is added to 20% of B, the answer is 40%
of B. What percentage of A is B?

200% b) 100%

20% d) 150%

AU P T Piforg, afe 2 a6t & 15 10% ufa ad
P G A Ihqfs TS WR 605 FUY BT FAHU YTed gielT
gl

Calculate the principal, if an amount of Rs. 605 is
received in compound interest at the rate of 10% per
annum after 2 years.

413 b) 500
5500 d) 454

32,000 ¥03 U a¢ i @¥ W, 3 quf A a1ffes =0 @
TARIG 811 W 5,044 FUL BT Tehqies AT YT AT
At what rate per annum will Rs. 32,000 yield a
compound interest of Rs. 5,044 in 3 years being
compounded annually.

8% b) 5%
7% d) 10%
16 _ =z __ 28
28 21
afg Y 3 drmum xRy &
AH B
16 _ = __ 28
28 21
If then the values of x
and y are respectively:
43R74and7 b) 49 3R 12 49 and 12

d) Eﬂﬁ@ﬁgqﬁNone of

these

frdzm: fow v faweul ¥ @, Uyaae R & ’IM W
T 3{TTT?

Direction: Out of the given alternatives, what will
replace the question mark?

12 3R 49 12 and 49

(25)75 x (5)%5 + (125)1° = 57
85 b) 13
16 d) 175

TP Iid Aoft &1 ugen ug 27 & 3R g9 Smaai
Ug 1/81 21 A 3P UgH 10 UK T 41T F1d Prwl
The first term of a GP is 27 and its 8th term is 1/81.
Find the sum of its first 10 terms?

Mob. - 7737404085, 8209244090
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a)

c)

61.

a)

c)

62.

a)
c)

63.

a)
c)

64.

a)

c)

65.

a)
c)

66.

a)

c)

67.

a)

c)

7 (1= 3m) 7 (1-3m)
b)
(- ) 71— )
d)
TT% & o 3t @i feaa ot Az
Small pox vaccine was discovered by:
USa8 R Edward b) IR  HSA  Gregor
Jenner Mendel
ﬁ@naqﬁ Madame Curie d) @s‘w Louis Pasteur
AT YRR B gadt 9w a1 UfY oI A 82

Which is the second largest gland of the Human
body?

TPd Liver b) WS 3fid Large Intestine
YRS Thorax d) 3FARMY Pancreas
I HUF & 99 AT ST gl

Large amplitude of sound vibrations will produce:
g & Loud sound b) Tg @ Soft sound
Hufaeh & Shrill sound  d) W @M Feeble sound

ATYHT BT I DI T A T JaY 82

How is temperature related to particles’ motion?

IHAMAT  Inversely b) Td gaR d  WaA

proportional Independent of each
other

GWHCI'R‘TT Directly d) b EeY  Curvilinear

proportional relationship

Sl & T s1 g1 &l

Sl unit for energy is

qIc Watt b) fpam Kilogram
<Y Newton d) 9c Joule
TS W A 4 & fbah gl 82

What is the normal breathing rate in human beings?

36 ufd fiFe 36per b) 12 ¥ 20 U4 fiFe 12

minute to 20 per minute

72 "fd e 72 per d) 20 ¥ 30 Ufd e 20 to

minute 30 per minute

fufafee & @ o9 @ FreT a9 @Rg B
ygtaRufta JHaH | saM & g gafia 82

Which one of the following organization dedicated
to protecting human health from environmental
harms?

7farur 3R AMG WG b) YAfRUl 3R FNe

Environment and Human ﬁ?‘ﬂ:{ Environmental and

Health Scientific Science
RIS TR0 Ted d) uRfUfde  fagm SR
Ecological Protection HHTYTT Ecological

Organization Science and Solutions

68.

a)

c)

69.

a)
c)

70.

a)
c)

71.

a)
c)

72.

a)
c)

73.

a)

74.

a)

c)

75.

c)

76.

g1 P 98 AT W IAER Pt THETAT gl §,
gzl

The state of matter that shows the uniformity of
behavior, is

39 solid
BiEs| gas

b) .FRT‘Iquuid
d) 3?3[ T ﬁ'&c ot TSDI None

of the Above

gl & A | BfeRaw Bidhe WS BT gl
Ffearan widkhe Bt ypfa Bt Bl

Calcium phosphate is present in tooth enamel. The
nature of the calcium phosphate is:

3T Acidic b) &R Basic
&I Neutral d) G‘J-I'CI%IﬂTAmphoteric

SuayHf sifqargs a & S Ay ufafsear w39 €1
Amphoteric oxides are those which react with:

Had 3 Acids only b) %Had &R Bases only

T &R MR A G A d) &R AR A gl Both

Neither bases nor acids bases and acids

frafaf@a & @ e @ 7 s Anf e & g
BIEE
Which of the following river is famous for changing
its path?

FHaT Narmada b) P Kosi
§&YA Brahmaputra d) MG Damodar
FREs AP EeH__ AfR@v7

Coal mines in Jharkhand are located at

AT Jharia b) WJamshedpur
3T Ranchi d) RIREGL Lohardaga

fFufafea § & P9 agarR § ¥98 sifte vara
fufrar &

Which of the following oceans have the most coral
reefs:

THeH TEMIR Arctic b) 3fedifesd TENITR

Ocean Atlantic Ocean

URd HENFR  Pacific d) f§d WEMFR  Indian
Ocean Ocean

YR ¥, gfr=r ardt ulrs @:

In India, Sukinda valley is famous for:

arer Copper b) HIHETEC Chromite

A& Nickel d) I Tungsten

g Hudg Mt gRT "URT SISt igia &9
= foar ma um

When was the 'Quit India Movement' launched by
Mohandas Karamchand Gandhi?

1946 b) 1939
1942 d) 1940

afe TsaaHT gRT faddt o fAdus # vafw wu @
e foar Sirar g o 1 g

Mob. - 7737404085, 8209244090
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a)

c)

77.

a)

c)

78.

a)

c)

79.

a)

c)

80.

a)
c)

81.

What will follow if a money bill is substantially
amended by the Rajya Sabha?

AHIHT 39 fAda® &1 b) AHaH [J9Ts R S
TR W@ gHd § SR I R A B Gl R
gy P Rl @i The Lok Sabha cannot
WHR T MEHR B consider the Bill further
et 81 Lok Sabha may

still proceed with the Bill,

accepting or not

accepting the

recommendations of the

Rajya Sabha

AHHH GAfaaR & fw d) ryufd fadas uid s
3T & AT GUT B P (AU Igad 3P &l
U9 &t gl The Lok  THA &1 The President
Sabha may send the Bill may call a joint sitting for
to the Rajya Sabha for passing the Bill
reconsideration

TATad & We 7

The members of Panchayat are:
TGS f[Ah™ W gRIFAAT b) o0 & IR TR H
Nominated by the block Nominated by local self-
development organization minister of the state

B d) forem SifYep R gRY A
TR Heiferd Faffed #dardt by the district officer

The electorates of the
respective territorial
constituencies

frrafafad § @ o9 YRAT SSaRIT # 96k SRSI
3t Yo 32

Which one of the following is the role of market
factors in Indian economy?

ey YAdIModerate b) 3 YHDT High role

role

(A) 3R (B) Gl Both (A) d) 399 ¥ 15 +i &l None

and (B) of the above

R faw e e vl &1 T 3 87

What is the meaning of the traffic symbol given
below?

ST AT YHRT ¢ Narrow b)  gHeT UaUT &3 Accident
Road Ahead Prone Area

3T 3 ISP T AA & d) IS Give way
Traffic Merging Ahead

"Kalpasutra” is a text related to-

dig 41 Buddhism b) %ﬁﬂﬁHinduism
S 4 Jainism d) g e sikhism

Rreror &Y sare faft st & fw Tyg & Hwga ot

The lecture method of teaching is recommended to
which groups of students?

a) TWHHS US Secondary b) ST Wpd  Middle

grade school
¢) Piad College d) IR HIAMSG Higher
secondary
82. o wafte Regn & Ao &

R URa & &1 HTdwH & ¥ | ar] fear T g1
is implemented as India's main
Programme for universalizing elementary education.
a) gd fream  ofmm b)) W 9w gfew dem
(TITHY) Sarva Shiksha Stand Up India Scheme
Abhiyan (SSA)
¢) UYFHA 9g der AoFT d) ST ¥ DI Tl None of
Pradhan Mantri Vaya these
Vandana Yojana

83. WA Ham A Frafufad & A $19 998 Teayy 82
Which of the following is most important in an
inclusive classroom?

A SR e et b) ulowufas Remr &t

governmeniiguStandardized §glal &I Promoting
testing competitive learning

| Nomigateghfagmrg  fRrem a1 d) ¥9H  fAdY  Uniform
Individualized education instruction
plan

84. g oTaT § % Wufhe® fRign & e fis S dia diemn
F Pg GPRTAD YHIG ¢ | Fraffea & § s19-a1 3797
| TS TE
The Mid day Meal scheme for elementary education
is said to have many positive effects. Which one of
the following is not one of them?

a) e sl @ Wl § b) fAd Yaiug W gL B
WW%I Enrolment Caste prejudices have
of poor children in been reduced.
schools has increased.

¢) RIS B 3@ AU UgTs d) TRIS g Dl e H 3=
W A FHigd HR GHd & 3% frd W 1 Poor
Fifdh I U @it U children are getting high
:lﬁ%l Poor students can marks in examinations.
now concentrate on their
studies as they do not
have empty stomachs.

85. 'ga fRigmr g:
'Team Teaching' is:

a) SOl wfT g fORivar b) et @ srgudsar 3
HT 3P ST FRA 3 (deA BT TS I Bl is a
gl & ?I'Hﬁ Cal way out to manage with
Tftferd HRAT 2 involves the shortage of teachers.
teams of teachers to
optimize resources,
interest & expertise.

) DadRgDIFTE S d) il o 39! draar
i W gyl d 0 & AJUR | gl d

STt 82
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86.

a)

c)

87.

a)

c)

88.

a)

89.

a)

c)

90.

a)
c)

nafed @&xal gl Sicpr aftferd Har gl

encourages healthy involves small teams of
competition among students as per their
teams of teachers in a ability.

school.

fracht wemet | verd I9Y U Rrerd &) wryfean
¥ ok

While teaching in lower classes, a teacher should
prefer:

T fafY BT Lecture b)  SrATEHE Cal
method Assignment
FEF HYT DI Story d) IIE ddl HI  Group
telling discussion
TP R1erd P e e & o #1 = @ 791 @

¥ fore Far weAT Tnfewl
What should a teacher do to maintain the interest of
students in class teaching?

IEeiked  Sigd ¥ b) fgor wmEh/asas
JATERUN BT AUH JUIRT YA B YD I
Extensive use of Extensive use of teaching
examples  from  the materials / aids

practical life

/ARt & fou o) <eas w1 SHfREan

J[E P U AW JUART Maximum use of

5l Giving ample  blackboard
opportunity to students
for discussion /

deliberations

TP WIfa=ia & Hesd #, Riae P ararav yeH
HYPH A Bt Rﬁﬁ"iﬂ aTﬂ %:

In a progressive classroom setup, the teacher
facilitates learning by providing an environment
that:

@Y B galfed b) TREN & WieRd
Pl discourages Pl encourages
inclusion repetition

QS Bl deldl 3§ d) YIS § is restrictive
promotes discovery

P& W AR F a9 TSI T14T 97T 82

The most powerful barrier of communication in
classroom is:

F& H TR Noise in the b) femr Tgred IRl &t
classroom $T Lack of teaching aids
g @1 R T YA d) TR WUR b DRU DT H

fd  Disturbance in

classroom due to outside
noise

Frafafea d @ 14 dre & Rigidl J i g2
Which of the following are included in the principles
of learning?
Rl Readiness

dtar Recency

Confusion on the part of
teacher

b) WY Exercise
d) IWRIad T+t All of above

91.

a)
c)
92.

a)

c)

93.

a)

<)

94.

a)

c)

95.

a)

96.

a)

c)

97.

7 # @ o W =2 & uTw I &t wwifaa s
AT TP PRSP 81 87

Which among the following is not a factor affecting
language development of a child?

IS Social b) SHfAS Political
&P Educational  d) W3 Biological

et off 75 wTor Bt e & e e wEl @ B2
From where to start in order to learn any new
language?

it Eal fAmfor b) eg] HT T3 Formation

Formation of sentences of words

3eRT 3R Wedl & S d) 99 A Bis +ff 76T None

oYy Association of the above
between letters and
words

fioe v o Jre=-3id fazawor fFgfafaa # 9
frae Sarevure?

Backward exploration and means-end analysis are
examples of which of the following?

%o fafY Algorithms  b)  AFRI® IT Mental sets
S{THMT Heuristics dy FEAS fRRar

Functional fixedness

5 UPR & BT/ THIARN Her § Wi 8/8?
Which type(s) of students is/are included in inclusive
class?

I R AR ®@ b) Fad IHR BH Only
General and  specific general students
students

Faa falRly 3@ only d) udfdg SR wfqum=met

specific students &I Metalinguistic and
gifted students

Frafafaa & ¥ @9 a1y o1 aa T8 @2
Which of the following is not the element of
emotion?

IRING Physiological
dgR Behavioural

b) TIMTIHD Cognitive
d) H'a_CﬁSensory

TP B UG 3T 8, [Pl A 3@ A9 ¥ (PRI 98
(Fremff) fFrafafea & @ fFa sgyfa 9 SR Tm?

A student is reading, someone called him by name.
By which sensation he (student) will respond from
the following?

ARG AU Tactual b) %901 "dgAT Auditory

sensation sensation
TY YAl Visual d) SAYRUTHD Giﬂﬂﬂ%f
sensation Perceptual sensation

Qmﬁ%mﬁqﬁﬁmmmaﬂmﬁmﬁ

What is the age of preoperational stage in Piaget
theory?
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a)

c)

98.

a)

c)

99.

a)

c)

100.

a)

c)

101.

a)
c)

102.

a)
c)

103.

THY QI aP Birthto b) &l ¥ Id a¥ dd Two to
two years seven years
IR Y 313 T qS Four to d) Ui § 311 aY d Five to
eight years eight years

Frafafea % @ o= Ot S TreaaR & difss fae
@t oy i &2

Which of the following is not the characteristic of the
intellectual development of later childhood?

fosm our & 3= 30 b) e @ #F I

High interest in science Increased logical power

fiction

AOfdHdT B Famad d) HlAqDd DS BT
BIEE Operational 3fd End of imaginary
planning of career fears

It SrawT P g o A Weifdra g o facifaa
faera ¥ Hafla 31

Gang age is associated to age group and
delayed development is associated to

3-6 @y 3fR YW 3-6 b) 81OH'ETG?IT‘€I'HWUT

years and language 8-10 years and
socialization

16-19 d¥ 3R Afdbdl d) 16-19 I 3R JYFTHSB

16-19 years and morality 16-19 years and
cognitive

e & R, Fufafea & @ si9-ar sgFEs
I &1 T wor 32

According to Piaget which of the following is the

third stage of cognitive development?

Ud IfharA® WROT Pre- b) Hd  OfbAE®  WROT

operational stage Concrete operational
stage

i fhard®s WU d) Wakew  Wfm wRw

Formal operational stage Sensory-motor stage

T4 8 | fPua § BIgfei 2.0 3R * § da1 d%' @i
g
Who has recently launched ‘e-filing 2.0' and ‘e-Seva
Kendra'?

& HIS! Narendra Modi  b) W‘ Id Piyush Goyal

DY EEEI:S' DY d) ﬁﬁﬁaﬂéqﬁ none of
Chandrachud these

Ta 8 A fw Ia & ger 7 far sifger
QST R P32

Recently the Chief Minister of which state has
launched 'Geeta Karmikula Bima Yojana'?

HERIY Maharashtra b) XTSI Rajasthan

RISEIG! Telangana d) E:I'a[ I ﬁ'sc :Ig)[ none of
these

gftrer grT gt by PINSR & Taf~d B:

$sfea
mﬁ%ﬁiﬂﬁm%ﬁuﬁr%mﬁaﬁqmw
TEd R W E?

a)
c)

104.

a)

c)

105.

a)

©)

106.

a)

<)

107.

a)
c)

108.

c)

109.

a)

c)

110.

Which city ranks first in terms of export of products
in the list of selected six cities of UP Defense
Industrial Corridor by UPIDA?

PHTYR Kanpur b) &3 Lucknow
T Jhansi d) fE%e Chitrakoot

Fafafea # 9 f59 =g WReR 3 uiw ara ol 3
Tde UM F & T 5- T g 3= @

Which one of the following state government
launched ‘e-Adhigam’ scheme to provide tablets to

five lakh students?
T2 faeeft New Delhi b) g Haryana
d) 33 7 Odisha

Uf3H ST West Bengal

YR H Ugd "3d WG PT Iguled YRd & fra
g # s war A

The first "Amrit Sarovar” in India was inaugurated in
which state of India?

Pl Karnataka b) 3 H Assam

T UM Madhya d) TR UeX Uttar Pradesh
Pradesh

fr 359 7 3vA 5 & fore whfthr ffe ey @5

Which state implemented the scrapping policy of its

state?

HERTY Maharashtra b) @AM WX Himachal
Pradesh

SR Rajasthan d) IR UGH Uttar Pradesh

BT €1 H A1 3RT PI 715 § drert yonrent | fma o=
B ary e 2

How many countries will be benefited from the new
e-visa system of Saudi Arabia recently?

05 b) 07

09 d) Eﬁ@aﬁg:ﬁﬁnone of

these

T 8 § YRdTa St feaan A ok wRawia Rig
ISSF ST fIy®u & HI-41 Uge Siar g ?

Which medal has been won by the Indian pair Divya
TS and Sarabjot Singh in the ISSF Shotgun World Cup
recently?
XoId Silver

@l gold

b) I A bronze

d) Eﬁ@aﬂé:ﬂﬁnone of

these

YRd 7 f5g wex & ugelht IR Wifow <rag ggam
TS (TaRitelh) WIdarg B &) Ao $t 82

In which city India has hosted the physical Shanghai
Cooperation Organization (SCO) Startup Forum for
the first time?

T8 Mumbai b) s fact New Delhi
PIADIT Kolkata d) <EIgT Dehradun
Tl-T-aa+ fPad gRT foredt 7 qae 87

Soj-e-Vatan is the book written by:
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a)

c)

111.

a)

c)

112.

a)

c)

113.

a)

114.

a)
c)

115.

a)

116.

a)
c)

117.

IIE'IaTﬁ gaf  Mahadevi b) UHwIE Premchand

Verma

AT AeT Ud Sumitra d) Fheid BoEdt AR

Nandan Pant Suryakant Tripathi
'Nirala'

g 35 A < R dugTe &1 SgureH fear man

?

In which state the 'Sea Harrier Museum' has been
inaugurated?

Y UG Andhra b) TS ST West Bengal
Pradesh

aFFTHTTeIangana d) P Kerala

o URdr ARFAE 7 eTsH A & FaR W M
arelt 3fye efeTal & telie oore & 3rusft o1 o1 @2

Which Indian actress has made it to the elite club of
global celebrities to grace the cover of Time

magazine?

TR UE Alia Bhatt b) dIfT UIgHH Deepika
Padukone

&1 AUST Priyanka d) &M@ 3UATA  Kajal

Chopra Aggarwal

T4 A Edie (TIS18Ng) ERT USRI

foar wrar 81

The Human Development Index (HDI) is published by

the .

3% §% World bank b) TG XY AP HRIGH
UNDP

IRFAGIT SN IMF - d)  Hfd SRINT NITI Aayog

fFafafaa & ¥ &9 a1 3/ IMT TRILAT T Tt
ST BT fowam 8T um?

Which of the following country was not a part of the
IMT TRILAT joint maritime exercise?

YIS Thailand b) YR India

AST=T Tanzania d) HI® Mozambique

3 & 59 T A AN P B! W GRIEG A B

ITUPR A & 3T AR fe &2

Which state of the country has issued orders to give

people the right to walk safely on the roads?

USITS Punjab b) BRI Haryana

ISR Rajasthan d @® U
Pradesh

IR UK WPR §RT U & fhaq el A 3-Ridt s
[T BT JURTY fHar T g 2

In how many cities of the state, E-city bus service has
been started by the Uttar Pradesh government?

2 b) 5
7 d) 9

fog Teex @) afel # faQw oieifie amm & fow
TRESY & U § URAH & § 2fire fpar war @2

Madhya

a)

c)

118.

a)

c)

119.

a)

<)

120.

a)

121.

a)
c)

122.

a)

c)

123.

Which actor has been included in the Indian
contingent as ambassador for the Special Olympics
trip to Berlin?

SITYSHTT XRT b) AT §=F Amitabh
Ayushman Khurana Bachchan

ST PHR  Akshay d) &ITrR?[aEITIT-fAjay Devgan
Kumar

"G A T I BTS’ YIS P I¢1a1 31 F o Hg
gwwmwmwﬁmmmmm

What is the name the mobile application which is
launched by the Central Government in order to
promote the ‘One Nation One Ration Card’ Scheme?
3a¥ IXE TG Our Ration b) HdPhl R UJ Sabka
app Ration app

BHART IRE UT Humara d) BRTIRE TT Mera Ration
Ration app app

= (Gucci) R s A frd Tied Taas & U &
iftra faan 82

Who has been named as the Global Ambassador by
the Gucci fashion brand?

'J:I'[ﬂ'\ﬁ qiférd Madhuri b) QWWWAishwarya
Dixit Rai Bachchan

AT UIGHIV Deepika d) 3T HE Alia Bhatt

Padukone

YR A 5T g1 A9 WA § Iafa & g aqnfe
FEUIT TR b 37 & 1Y U WHSHAT F10 W §ATER
frus?
India recently signed an MoU with which country, on
scientific cooperation for advancement in Human
Health?

QORI Israel
W France

b) SIdPT Sri Lanka
d) ST Germany

P9 1 AR Hia garan 8 7 s 9hf 3 i 3t
3IQTS hop & oY AUy &1 TETIdT Y UTed B1?
Which literary source describes how Chandragupta
Maurya get Chanakya's assistance to overthrow the
Nandas?

HaRI&H Mudrarakshasa  b) &I Indica
3R Arthasastra d) f&ouTaeH Divyavadana

gfter S a1 St &Y Iaa A w9 wIe gam?
When did the English East India Company receive the
Royal charter?

1508 b) 1519
1600 d) 1618
Frafafla § @ o149 W te vara ARy o adi &

Which one among the following is not a coral reef
island?

meH IR 8w, b) Eey @ ggH, ol
ITLfORT  Great Barrier Rainbow Reef, Fiji

X

Reef, Australia
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c)

124.

a)
c)

125.

a)

c)

126.

a)
c)

127.

a)
c)

128.

a)

c)

129.

a)
c)

130.

a)

RIS g, YRd Swaraj d) I &Y, UM Kyushu
Island, India Island, Japan

R gt et g = 82

Regur Soil is another name for:

Pl fgT Black Soil b) g gl Alluvial Soil
wevTge S Laterite Soil  d) @@ 3R Uit AEY Red

and Yellow Soil

fFrafafaa & ¥ SF-91 iRy I gafea T8 @:
Which among the following sanctuaries is not
correctly matched?

IR - IM WAl b) AqEE - ARG
Samaspur - Rae Barelli Nawabganj - Allahabad

FERT - Id SR TR d) HUS! - gRals Sandi -

Bakhira - Sant Kabir Hardoi
Nagar
a9 URAg ATy srwTeHY Ft RITTT §?

In which year Bharatendu Natya Academy was
established?

1975 b)
1985 d)

fafafaa ¥ & f5a wH &) AR iR gReer difa

P FHCIG W IR & AT ST 51 82

Which one of the following place is known for the
Imdadkhani Gharana of Sitar and Surbahar music?
STRT Agra b) W3 Lucknow

gCIdl Etawah d) GRIUR Varanasi

F1 A afafa uRa & e ok geTaar udes #
a1 @ usten Ruié 3t g avdt 82

Which committee examine the annual audit reports
of the Comptroller and Auditor General of India?
o JUHHI W b) UGHAT IiAfd Estimates
IAfd  Committee  on Committee

Public Undertakings

1965
1995

Jed I House d) e wam FWAT Public
Committee Accounts Committee
ufaay Eiferd 819 aret 3 ST Soa” &7 ey fhd
I AR?

Which state is associated with the "Chaitra Jatra
Festival” held annually?

BTG Chhattisgarh b) Y USRI Andra Pradesh
Pl Karnataka d) IS Odisha

YR AT 3R I YTE 941 A $g1 W 350 Pide

TRIATSS BT ST faam

Where did the Indian Navy and Royal Thai Navy

conduct the 35th CORPAT Exercise?

389 UFR Sea of Aden  b) GRUT =H IWRR South
China Sea

38HM AR Andaman d) 3Rd IR Arabian Sea

Sea

131.

a)

c)

132.

a)

133.

a)

c)

134.

MRy Py RIS TSI, 11 3R A
sifdpa i fsad Rw g §1 smuwt faw u wuel @t
TG AT @ U E 3 [ a) ¥ e Uedild gid gl
g Fifre fe 1=-a1 ey 31a Tt #) TFoRe
P W HYA| BT Alfbd 9 A AR HraT g
DY:

1- P AHBA I

2- 91 va firers 21
frend:

1. $O frers oma &

1. |+t freTg wa g1

. $ 9 Tt B & ok 7 81 e 7

The two statements below are followed by three
conclusions labeled I, Il and Ill. Assuming that the
information in the statements is true, even if it
appears to be at variance with generally established
facts, decide which conclusion(s) logically and
definitely follow(s) from the information given in the
statements.

Statements:

1- Some mangoes are fruits.

2- All fruits are sweets.

Conclusions:

|. Some sweets are mangoes.

Il. All sweets are fruits.

Ill. Some mangoes are neither fruits nor sweets.

Faa ey | 3R I b) Pad [y 01 R

WU B §  Only ST Fd & Only
conclusions | and Il conclusions Il and |l
follow follow

Fad pY | R 11 d) Fad ey | RO
SR IRd & Only FRATS Only conclusion |
conclusions | and I follows

follow

H 37 W ¥ 30 Hiew IwR-ufdw fawn § ofk fibw aféror-
uf3m fa=m ® 30 Wex gaar §1 39 1¢ A gféor-gd
fa=m & 30 tew Taar g1 9@, # 3UA W P R g
T, ® for fazm A e T §2

I walk 30 metres in North-West direction from my
house and then 30 metres in South-west direction.
After this | walk 30 metres in South-East direction.
Now, | turn to my house, in what direction am |
going?

B?R—@ North-East
Hf\&IUT-fﬁ South-East

= 39 SER-ugg &1 guA &Y, & g goft o
weaTae R (7) & RIM U SME|

Direction: Which letter-cluster will replace the
question mark (?) in the following series.

SAG, KSY, CKQ, ?

SAG b) Uudl

UzF d) RZF

o g TR F1 o fRufeai & € g1 afe o gea e @
o 9 W TEn 99 FWR gt

b) JTR-UEH North-West
d) GRaU-ufdyg South-West
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a)
c)

135.

a)
c)

136.

a)

c)

137.

c)

138.

a)

c)

139.

a)

Two positions of the same dice are given. Which
number will be at the top if “9” is at the bottom?

7 9
9 4
. 8
6 b) 8
4 d) 5

eRY BT HIH-T1 TYE oa & TS 3R gaen # Raa
R IR iH® FU F @M 1T Y 98 59 TR S
Which one set of letters when sequentially placed at
the gaps in the given letter series shall complete it ?
_bc_ca_aba_c_ca
abcbb

baaba

faameral & AT vd TR M) Riget s fFa o

A R YGH b I T PI TaGa PT @AW

Y& R 32

Information and Communication Technology in

schools provide an opportunity to teachers to

transform their practices by providing them -

Afee Il F QYR b)  SHE murEr Rieor oiR

Improved  educational sy fafi More

content effective teaching and
learning methods

s HarerAs ad d) ITfEd TR Al of the
IR More interactive above
educational materials

frafefaa d @ @19 91 $e3e § vgar 99 o @7

Which one of the following is the first search engine

b) bbbcc
d) abbcc

in internet?

T[T Google b) 3T Archie

3eeTfaRel Altavista d) dTSUSMSTT WAIS

Rrgror siftrm AR &1 T F IR
CRIIEIE Y]

Teaching learning materials should be selected
according to:

Tafd &t # IFB b) U F IZ™T The
JUAIdI Their availability objectives of teaching

in respective areas

J7H! AT Their cost d) SWRed # ¥ aﬂé 8!

None of the above

TS T3S A9 (WWW) 3R Se3Ae fhd UaR fHa 872
How are the World Wide Web (WWW) and the
internet different?
3 3T S §; A US B b) www gI g &
g fmafafimams  fou o= &3 § SR
They aren't different; Efﬁ—c' IR F &=
they are two different Tudh 8 WWW is common
names for the same thing area for information
exchange and Internet is

c)

140.

a)

<)

141.

a)

c)

142.

a)

c)

143.

a)

c)

144.

a)

c)

145.

connection among
devices
3 g ®U ¥ d) WWW TRIAH S &l
PRISR & fo0 g gar ga1 § 31w A9 § The
%; WWW TR STaRTE dfaff WWW is faster than the
GRT IUTNT a1 51 ghdr more archaic internet

8 The internet is primarily
used by businesses; the
WWW can be used by
home users

FATSS HYFAT | ey

Cloud Computing refers to:

TSI THRE & b) FEAW D DIBR

Accessing the hardware AT Configuring the
hardware

FeaR H FIgARH d) FW F T All of the

Manipulating the above
hardware

1/ 1 U9ER &A1 g1 I1eE:

Teacher's behaviour ought to be:
RIS Administrative b)  TRT&TUG Instructive

3fTezfard Idealistic d) fAC=IEF Directive
J&I® "HTd WU &1 Rigia” g feret
T B

The book “Theory of Human Motivation” has been
written by

¥ & ASTT K B Madson b) TRl Maslow

™ Murray d) 0 ¥ Pis o 7Y None
of these
UROM Ht YUTTIT A T FRS B 72

What are the factors affecting motivation?

Fad TRN® BRS b) PHad HAGTIHD HRE

Physiological factors only Psychological factors
only

- HR® d) IURIad I+ All of these

Psycho-social factors

SfRon &1 fopan faferaes Risia
TTiad s A
Action regulation
proposed by:
foTPIgS §HR Winfried b) & Shahfe Ben Franklin

Hacker

e TR Clayton d) IWIad & ¥ P Tal

¥ gRI

theory of motivation was

Alderfer None of them
quﬁr&nﬁra%mmmmﬁ T Hfgd PP
TR fdaT STaT 8:

The purpose of value education is best served by
focusing on:

Tl § gaferd Iikdpiae b) Ud AMNGG 98 §RT
UYTY  Cultural practices RyiRa SeRT & AFcs
prevailing in the society
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c)

146.

a)

c)

147.

a)

c)

148.

a)

c)

149.

a)
c)

150.

a)

Norms of conduct laid
down by a social group
madla gt @ R d) erfife ok Afaw smRor
Concern  for  human IR ™ Religious and
values moral  practices and
instructions

g&qﬁwﬁméﬁﬁﬁrwaﬁmﬁ
T &

Role of teacher in promoting national integration
does not include:

T IUgad W A BT b) AT =TT BT SgIar &l
e S Developing a Promoting national
suitable language policy conciousness

FHESE SR ATE d) WUERE Wi @l
Farsi P N Uieied BHAT
Organising Social and Encouraging communal
National services feeling

Sita+ piere ¥ fIT smawa® gl
Life skills are essential for

Wﬂﬁaﬁuﬁfb)%ﬁ% Sfea @

acquisition of new  UHAAYdH Agd HIA
knowledge successfully leading daily
life

Tq1 9 &1 FE0 A d) SWRed H I B QL
R U HA creating Neither of the above
and  acquiring  new

knowledge

%ﬂﬁﬁaﬁ?wmﬁs-élﬂwﬁwaﬁmm

Which of these ministries implements the mid-day

meal scheme?

T HAMT  Home b) TFA HHIMH fAPbN

Ministry HATTT Human resource
development ministry

g U A d) JENie 9™ 3R

Ministry of Social Welfare SHfYBTRET AT
Ministry of Social Justice
and Empowerment

e o 9 9 cufaa &1 g11a Fiforg, foraeT wan o |,
HOR & A1AH 3R Ufeured & e uR frdmor g
Choose the person who has control over self, mode
of communication, and method of delivery in class
room from the following:

B Student b) fR1&® Teacher

ax(& Audience d) 3 Visitor

TUUHT (SSA) & I1a i | FRafoafea e 94 4
a3

The National Mission of SSA includes of the

following bodies.

PRGN TA&U The b) IRT  uReE  The

executive survey governing council

¢) WHld URYE The d) URASHT IAT  The

acceptance council project committee
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